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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Sociology, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9699 June 2024 Question Paper 42

9699 June 2024 Mark Scheme 42

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
•	 The answer could have been improved by greater focus on the reference to religious organisations in the question. 

More examples of how the organisational aspects of religion may serve ruling class interests would have been 
helpful.

•	 While references to the feminist theory of religion may help to support the view expressed in the question, more 
attention might have been paid to explaining the differences with Marxist theory, and specifically how and why  
might be viewed as a ruling class for the purposes of answering the exam question.

       The candidate rightly locates 
the question in the context 
of Marxist theory, thereby 
demonstrating good AO2 skills.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1 1

Common mistakes and guidance for candidates
•	 The term ‘ruling class’ refers to a group who enjoy a privileged position in society on the basis of their economic 

power primarily. Some candidates wrongly conflate other privileged groups, such as men and the feudal 
aristocracy, with the ruling class.

•	 Candidates often discuss religion in general even where the question refers to the role of religious organisations 
specifically. More attention to the organisational aspects of religion would help avoid this mistake when answering 
questions that refer directly to the impact of religious organisations.

Examiner comments explain 
where and why marks were 

awarded. These help to interpret 
the standard of Cambridge  

exams to help learners  
refine their exam technique.

Responses are written by real candidates in 
exam conditions, demonstrating the types of answers 

for each level. These could be used to discuss and 
analyse the answers with learners in the classroom to 

improve their skills.

This section explains how the candidate 
could improve each response. It helps learners to 

improve their exam technique.

This section lists common mistakes as well 
as helpful guidance from the examiner. This will 
help your learners to avoid these mistakes. You 
can use this alongside the relevant Examiner 

Report to guide your learners.
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Question 1

Example Candidate Response – high Examiner comments

       The candidate provides a 
clear account of what is meant by 
transnational organisations, thereby 
demonstrating good understanding 
of the question.

       The candidate offers 
exploitation by transnational 
corporations (TNCs) as a point 
supporting the view expressed in 
the question. Then, they develop 
the point suitable by referring to the 
imperative of capitalism to maximise 
profits, using cheap labour where 
available.

2

1

2

1
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Example Candidate Response – high, continued Examiner comments

       The candidate makes good use 
of a relevant example to illustrate 
the point about transnational 
corporations exploiting cheap 
labour.

       The candidate demonstrates 
strong AO2 skills in recognising 
that it is not just transnational 
corporations that engage in 
exploitation in developing countries; 
other types of transnational 
organisations may also be 
implicated, such as the example 
given of Oxfam.

       The candidate makes 
good use of a relevant concept 
(structural adjustment programmes) 
to illustrate a key point about 
how organisations like the IMF 
(International Monetary Fund) and 
World Bank may be implicated 
in the exploitation of developing 
countries.

4

5

3

4

5

3
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Example Candidate Response – high, continued Examiner comments

       The candidate provides a 
clear and accurate account of how 
structural adjustment programmes 
may be detrimental to the economic 
interests of recipient countries. This 
level of detail helps to demonstrate 
high order AO1 skills.

66
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Example Candidate Response – high, continued Examiner comments

       The candidate makes a good 
point supporting the view in the 
question, which is well-illustrated 
with the example of Shell.

       The candidate makes a good 
evaluative point, challenging the 
view expressed in the question. 
Again, the point is well-illustrated 
through use of an example, in 
this case the work of the NGO 
‘Excellent’.

       The candidate provides another 
well-made evaluative point, with a 
clear explanation of ways in which 
TNCs may benefit developing 
countries.

8

9

7

8

9

7
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Example Candidate Response – high, continued Examiner comments

       The candidates makes helpful 
reference to a relevant sociological 
source, Dalmiya and Schultink, 
with some use of relevant statistical 
data.

       The candidate provides a 
summative conclusion, though 
rather brief and lacking substantive 
insight. A somewhat simplistic 
conclusion by comparison with 
the relatively high standard of the 
preceding discussion in the main 
body of the answer.

Mark for AO1 = 8 out of 9
Mark for AO2 = 9 out of 11
Mark for AO3 = 13 out of 15

Total mark awarded =
30 out of 35

How the candidate could improve their answer
•	 The substantive points about the impact of TNCs in developing countries might have been linked to relevant 

theoretical perspectives, such as Dependency Theory and the World Systems perspective.
•	 There was scope to be more questioning about the points offered for and against the view expressed in the 

question. For example, the candidate somewhat uncritically accepted that TNCs operate in an exploitative way 
in all developing countries, overlooking examples of where certain countries have acted successfully to limit 
exploitative practices in their domestic labour market.

•	 The concluding paragraph could have engaged with the question more directly by, for example, stating which 
arguments the candidate finds most persuasive and why.

11

10

11

10
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Example Candidate Response – middle Examiner comments

       The candidate rightly notes 
the relevance of theoretical 
perspectives in answering the set 
question.

       The material in this paragraph 
is tangential to the question; it is a 
prelude to an answer rather than an 
answer as such.

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       This paragraph touches on 
some relevant material but is still 
rather tangential to the question.

       There is good use of a relevant 
concept – neo-colonialism – and 
links to Marxist theory. At this point, 
the material is directly focused on 
the question and the candidate 
demonstrates sound AO1 and AO2 
skills.

       The candidate makes another 
helpful reference to a concept – 
structural adjustment programmes 
– but does not explain why these 
programmes may be detrimental 
to developing countries, resulting 
in a lack of depth in this part of the 
answer.

5 5

33

44
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Example Candidate Response – middle, continued Examiner comments

       The candidate provides a basic 
explanation of how the activities of 
TNCs might be detrimental to the 
economic interests of developing 
countries, but there is little follow 
through on the point in terms of 
links to theory/concepts/evidence.

       Potentially, a relevant point 
about how some groups in 
particular (women in developing 
countries, for example) may be 
disadvantaged by the operations of 
transnational organisations, but it 
is left somewhat unclear what the 
candidate argues in this part of the 
answer.

66

77
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Example Candidate Response – middle, continued Examiner comments

       The candidate raises a clear 
and well-made point, challenging 
the view in the question and 
they support this with a relevant 
example, showing good AO3 skills.

       Referencing modernisation 
theory is a good starting point 
for a further evaluative point, but 
ultimately there is insufficient 
explanation of the relevance of that 
theory in helping to analyse the 
issues raised by the exam question.

       A valuable link to environmental 
impacts arises from the activities of 
TNCs but is underdeveloped in the 
context of the answer.

Mark for AO1 = 6 out of 9
Mark for AO2 = 7 out of 11
Mark for AO3 = 8 out of 15

Total mark awarded =
21 out of 35

8 8

How the candidate could improve their answer
•	 The first three paragraphs of the answer were tangential and could have been omitted. Better to have focused the 

answer from the outset on directly addressing the issues raised by the question.
•	 While in subsequent paragraphs the candidate made a number of relevant points for and against the view 

expressed in the question, there was scope to unpack the points further. More detailed explanation of the points 
was required to gain higher marks. Better linkage of the points to relevant theories, concepts, and evidence would 
also have helped improve the answer.

•	 The answer focused on the impact of TNCs primarily; references to other types of transnational organisation 
needed to be more developed in order to provide a full response to the question.

•	 Higher marks could have been gained by providing a clear, well-reasoned conclusion.

99

1010
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Example Candidate Response – low Examiner comments

       The candidate provides a rather 
unclear and tangential start to the 
answer.

       The material here is relevant 
to the question, but the candidate 
may be conflating transnational 
organisations with TNCs 
specifically.

1

2

1

2
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Example Candidate Response – low, continued Examiner comments

       While it is possible that TNCs 
require some educated and trained 
employees, they are also known to 
employ large numbers of unskilled 
and semi-skilled workers. The 
candidate over-generalises and 
offers an assertion rather than a fact 
based on clear supporting evidence.

       Glocalisation is a potentially 
relevant concept in relation to this 
question, but it is unclear how the 
candidate links this material to 
issues of global inequality. This is a 
relevant point challenging the view 
expressed in the question.

       The candidate misses the 
opportunity to support the point 
with reference to appropriate 
statistical evidence and/or 
theoretical perspectives. It can also 
be questioned whether TNCs are 
significant supporters of gender 
equality in the workplace, though 
this point is touched on at a later 
point in the answer.

3

4

5

3

4

5
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Example Candidate Response – low, continued Examiner comments

       The candidate makes quite 
a good link to Rostow and 
Modernisation Theory, helping to 
develop a line of argument against 
the view in the question. The 
limitations of Rostow’s thesis go 
unexplored in the answer, however.

66
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Example Candidate Response – low, continued Examiner comments

       This is a relevant evaluative 
point, but again somewhat uncritical 
and simplistic. The candidate 
misses the opportunity to question 
why Coca Cola might be engaged 
in such charity work.

       The candidate makes good 
use of feminist theory to suggest 
gender-based inequality within 
TNCs.

7

8

7

8
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Example Candidate Response – low, continued Examiner comments

       While the link to Marxist 
theory is relevant, the explanation 
that follows adds little in terms of 
answering the set question.

       The candidate makes a 
relevant link to environmental 
impacts. The candidate needs to 
show how these environmental 
impacts may illustrate growing 
inequality as a consequence 
of the actions of transnational 
organisations.

99

10 10
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Example Candidate Response – low, continued Examiner comments

       The relevance of this paragraph 
in relation to the question is unclear.

11 11
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Example Candidate Response – low, continued Examiner comments

       This is a moralising conclusion 
(suggesting what ought to be) 
rather than an academic statement 
expressing the candidate’s answer 
to the question.

Mark for AO1 = 5 out of 9
Mark for AO2 = 5 out of 11
Mark for AO3 = 5 out of 15

Total mark awarded =
15 out of 35

How the candidate could improve their answer
•	 Drawing clearer links between the points offered and the issues of inequality raised by the question, would have 

helped improve the answer.
•	 Higher marks could have been achieved by making more use of supporting evidence and/or examples.
•	 Stating which arguments and evidence the candidate finds most convincing and why would also have helped 

improve the answer.

Common mistakes and guidance for candidates
•	 Assuming uncritically that TNCs represent the full extent of transnational organisations is a common mistake. 

Knowledge of transnational organisations that are not TNCs needs to be more developed if candidates are to 
achieve high marks in relation to this topic in the syllabus.

•	 Distinguishing between different developing countries is valuable when assessing the impact of globalisation; not 
all developing countries are affected in the same way.

•	 Recognising that inequality may exist in different forms/levels, is one way of delivering nuanced answers to 
questions about the impact of globalisation. Inequality is not simply confined to differences in income and wealth; it 
can also include social, cultural, educational and environmental dimensions.

•	 Referring to theoretical perspectives on transnational organisations, without fully explaining their relevance in the 
context of the question, is a common mistake.

•	 Relying on assertion in discussing the impacts of globalisation should be avoided; points need to be supported 
with references to relevant sociological material, such as study evidence, credible statistics, theories and academic 
reasoning.

12 12
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Question 2

Example Candidate Response – high Examiner comments

       The candidate expresses a 
well-explained point in support of 
the view expressed in the question. 
The point also accurately links to 
the concept of ‘brain drain’.

11
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Example Candidate Response – high, continued Examiner comments

       The candidate provides a good 
evaluative rejoinder at the end of 
the paragraph, linking well to the 
global optimist perspective. This is a 
good example of how to support an 
analytical point with a reference to a 
relevant theory (AO2).

       This is a very well-explained 
point suggesting a positive social 
and cultural impact of global 
migration.

       The candidate introduces 
another relevant theory, the 
global pessimist viewpoint and 
the candidate links this well to the 
concept of Westernisation and how 
this may disadvantage developing 
countries.

2

3

4

2

3

4
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Example Candidate Response – high, continued Examiner comments

       Again, a well-placed rejoinder 
to the argument that the candidate 
carefully outlines earlier in 
the paragraph. The candidate 
demonstrates excellent flexibility 
and insight in their thinking with 
strong analytical points of this kind.

       The candidate makes good 
links to the idea of remittances and 
global care chains, demonstrating 
relevant sociological knowledge and 
understanding.

5

6

5

6
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Example Candidate Response – high, continued Examiner comments

       The candidate demonstrates 
excellent dialectical thinking in 
challenging the earlier point in the 
paragraph.

       The candidate makes good 
use of the concept of stereotyping 
to highlight disadvantages that 
migrants from developing countries 
may face when working overseas.

7

8

7

8
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Example Candidate Response – high, continued Examiner comments

       The candidate draws out their 
point to explain clearly how the 
creation of a global culture with 
elements of hybridity may promote 
a form of equality between cultures.

       A rather short concluding 
paragraph. The candidate’s point 
that there are more positives than 
negatives with global migration 
needs more development and 
support to be convincing.

Mark for AO1 = 7 out of 9
Mark for AO2 = 8 out of 11
Mark for AO3 = 10 out of 15

Total mark awarded =
25 out of 35

How the candidate could improve their answer
•	 Higher marks could have been achieved by reflecting on the extent to which the experience of global migration 

is the same for all developing countries. Some developing countries may benefit more than others from global 
migration.

•	 More references to relevant research studies would have been helpful.
•	 The conclusion was undeveloped and lacked the sharpness shown in earlier parts of the answer.

99

10
10
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Example Candidate Response – middle Examiner comments

       This is a well-developed point 
challenging the view expressed in 
the question.

       The candidate makes a good 
link to a relevant concept – ‘care 
chains’ – helping to identify positive 
consequences of global migration 
for some female migrants and their 
families.

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       The candidate discusses the 
idea of a ‘brain drain’, with an 
example to illustrate the negative 
consequences for developing 
countries.

       A good evaluative point 
extending the analysis by 
countering the notion that a 
‘brain drain’ has only negative 
consequences for developing 
countries and their people (AO3).

       The candidate maintains the 
dialectic in their analysis by offering 
an insightful counter to their earlier 
point about the benefits of improved 
healthcare for migrant workers.

5

3

4

5

3

4
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Example Candidate Response – middle, continued Examiner comments

       This paragraph is rather vague 
and seems to partly be repeating 
the previous observations about 
a ‘brain drain’ and loss of key 
workers.

       The candidate identifies a 
potential benefit for the migrant 
worker and his accompanying 
family but needs to show how 
this might also be beneficial for 
the country of origin in general. 
Reference to ‘remittances’ would 
have helped in making that 
connection.

       The conclusion is rather 
simplistic and unsupported. The 
quality of arguments generally 
counts more than the quantity of 
arguments for a particular case, and 
it would have served the candidate 
better to consider whether some of 
the arguments they discussed in 
their answer were more plausible 
and/or better supported by evidence 
than other arguments.

Mark for AO1 = 5 out of 9
Mark for AO2 = 6 out of 11
Mark for AO3 = 7 out of 15

Total mark awarded =
18 out of 35

6

77

6

How the candidate could improve their answer
•	 The candidate might have made it clear that benefits for the individual migrant (higher paid employment, for 

example) might not necessarily have beneficial consequences for the developing country (the country of origin).
•	 Links to relevant theories would have added more substance to the sociological analysis.
•	 A more thoughtful and insightful conclusion would have helped to improve the answer.

88
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Example Candidate Response – low Examiner comments

       This paragraph describes 
the background to an increase in 
global migration. As the question 
does not ask about the reasons for 
global migration, the candidate uses 
their time fruitlessly in writing the 
paragraph.

       The use of theoretical 
perspectives at this point is helpful 
but is limited in scope because 
the relevance of the theories for 
answering the question is left 
largely implicit.

1

2

1

2
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Example Candidate Response – low, continued Examiner comments

       The candidate returns to 
discussing reasons for migration, 
which is tangential to the question.

       Potentially a valid point, but 
undeveloped and the relevance for 
the question is left largely implicit.

       The discussion here is at a 
very general level and lacks direct 
links to how global migration affects 
developing countries specifically.

4

3 3

4

55
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Example Candidate Response – low, continued Examiner comments

       Again, the discussion here is 
more about the reasons for global 
migration than the consequences 
for developing countries.

       This paragraph is more about 
the consequences of migration for 
developed countries as opposed to 
developing countries.

66

77
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Example Candidate Response – low, continued Examiner comments

       This paragraph has little 
relevance to the question and is 
based more on assertion than 
sociological reasoning.

88
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Example Candidate Response – low, continued Examiner comments

       This paragraph is also off-topic, 
although some credit is merited 
for implicitly indicating that the 
experience of global migration may 
differ between developing countries, 
some perhaps having a more 
positive experience than others 
(AO1).

       A sparse conclusion, largely 
unsupported by the preceding 
discussion. Throughout the answer 
the candidate omits to refer to the 
consequences of global migration 
for developing countries specifically, 
thereby limiting AO2 marks in 
particular.

Mark for AO1 = 3 out of 9
Mark for AO2 = 3 out of 11
Mark for AO3 = 4 out of 15

Total mark awarded =
10 out of 35

9

9

How the candidate could improve their answer
•	 References to the functionalist and Marxist perspectives needed to be linked in to a substantive analysis of the 

consequences of global migration for developing countries.
•	 The answer speculated extensively about what should have been done about migration in the view of different 

political perspectives. That material was irrelevant to the question and needed to be replaced by references to 
specific consequences of migration for developing countries, as outlined in appropriate sociological sources such 
as the recommended Cambridge International A Level Sociology textbooks.

Common mistakes and guidance for candidates
•	 Candidates often fail to distinguish between different forms of global migration (temporary, semi-permanent, and 

permanent, for example) and how each form may affect the experience of the migrant and the community of origin.
•	 Answers on the consequences of global migration often focus primarily on the economic dimension, thereby 

missing the opportunity to broaden the response by also considering social, cultural and environmental impacts.
•	 Candidates are often better informed about the negative consequences of global migration than the positive 

consequences and this can lead to unbalanced answers.
•	 In discussing global migration, many candidates fail to make sufficient distinction between consequences for the 

individual migrant and consequences for the wider society.
•	 A more nuanced understanding of the consequences of global migration would help candidates achieve higher 

marks. For example, many candidates assume that developing countries always benefit from remittances 
sent to family members by migrant workers. However, remittances are often saved and used to enable further 
family members to migrate, thereby adding to the loss of workers and depopulation experienced as a negative 
consequence by some developing countries.

10

10
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Question 3

Example Candidate Response – high Examiner comments

       The answer begins well by 
referencing different theories about 
the influence of the media, although 
at this stage there is no link to 
postmodernist ideas as such.

       This is the start of the 
candidate’s discussion about 
the influence of the media. They 
mention the postmodernist 
contribution, though details about 
postmodernist ideas are lacking at 
this point.

       The candidate makes good 
use of the two-step flow model to 
argue that people are not passive 
recipients of media influences.

1

2

3

1

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate carefully 
explains details about the two-step 
flow model in an accurate and 
literate form, demonstrating good 
AO2 skills.

       The candidate offers a relevant 
criticism of the two-step flow model, 
demonstrating good evaluation 
skills (AO3).

       The candidate explains the 
reception analysis model well and 
uses it to extend the analysis of 
media influence in support of the 
view expressed in the question.

4 4

5

66

5
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Example Candidate Response – high, continued Examiner comments

       The candidate uses relevant 
study evidence to illustrate points 
about the reception analysis 
model is an example of good AO2 
skills. However, references to 
postmodernist ideas are not made 
directly.

       The candidate gives a brief, 
but helpful mention of the reception 
analysis model.

       The candidate provides 
complete arguments and evidence 
for the view expressed in the 
question here with an accurate 
and well-informed discussion of 
the uses and gratifications model, 
demonstrating good AO1 and AO2 
skills.

99

88

77
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Example Candidate Response – high, continued Examiner comments

       The candidate gives a 
relevant critical perspective on the 
previously described models of 
media effects, with good use of the 
term ‘deterministic’ to demonstrate 
analytical insight and awareness 
of broader philosophical issues 
underpinning social science. This 
shows good AO2 and AO3 skills.

1010
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Example Candidate Response – high, continued Examiner comments

       The candidate gives a sound 
account of the hypodermic-syringe 
model as a line of analysis against 
the view expressed in the question.

       The candidate makes good use 
of a study to illustrate the thinking 
behind the hypodermic-syringe 
model.

11

12

11

12
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Example Candidate Response – high, continued Examiner comments

       A further study (Bandura) 
adds depth to the analysis in 
the preceding two paragraphs, 
demonstrating sound AO2 skills and 
keeps the evaluation well focused 
on the issue of the extent of media 
influence.

       The candidate provides a 
sound link to Marcuse and the 
Frankfurt School, which was 
an important influence on the 
development of postmodernist ideas 
later in the twentieth century.

1313

1414
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Example Candidate Response – high, continued Examiner comments

       The conclusion adds very little 
to the preceding discussion.

Mark for AO1 = 6 out of 9
Mark for AO2 = 8 out of 11
Mark for AO3 = 10 out of 15

Total mark awarded =
24 out of 35

How the candidate could improve their answer
•	 Higher marks could have been achieved by providing more detail about postmodernist ideas, explaining why 

that perspective views the media as having such a strong influence in society today. Lack of references to 
postmodernist thinkers was a notable omission, although to the candidate’s credit the answer remained focused 
throughout on the key issue raised by the question of the extent of media influence today.

•	 While the candidate covered some limitations of each model of media effects, implicitly or explicitly, they missed 
the opportunity to reflect on the limitations of this type of abstract modelling in general. Arguably, both passive and 
active models of media effects are over-generalised, too abstract to be readily tested in studies, deterministic, and 
speculative, among other drawbacks.

•	 Had the candidate’s conclusion reflected the analytical skill shown in their preceding discussion, higher marks 
would have been awarded.

1515
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Example Candidate Response – middle Examiner comments
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Example Candidate Response – middle, continued Examiner comments

       The candidate provides 
a useful illustration of what 
postmodernists mean when they 
refer to the increasingly pervasive 
influence of the media in society 
today, demonstrating sound AO1 
skills. 

       An interesting switch to the 
feminist perspective, but slightly 
tangential to the question in how the 
candidate develops the point.

1

2

1

2
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Example Candidate Response – middle, continued Examiner comments

       This ending to the paragraph 
is better in terms of linking the 
feminist perspective to the question. 
Ultimately, though, the point is 
unconvincing in the sense that 
earlier the candidate was implying 
that the media was central to the 
lives of both men and women, 
though within a differential power 
structure and set of effects.

       The candidates highlights 
a relevant angle supporting the 
view expressed in the question 
and demonstrates a sound 
understanding of the interpretivist 
perspective.

3

3

4
4
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Example Candidate Response – middle, continued Examiner comments

       The candidate begins the 
evaluative part of their answer with 
a sound point about the extent of 
media use today and the growing 
importance in our lives of the new 
media.

       The candidate demonstrates 
some understanding of specific 
postmodernist ideas here, with a 
useful reference to ‘the culture of 
simulation’.

       This point appears to link back 
to the earlier discussion of feminist 
theory, but neither this point nor the 
earlier discussion of feminist theory 
is entirely clear. The significance 
of the references for answering 
the question needs to be better 
explained.

       A reasonable, but brief, 
conclusion.

Mark for AO1 = 5 out of 9
Mark for AO2 = 6 out of 11
Mark for AO3 = 7 out of 15

Total mark awarded =
18 out of 35
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How the candidate could improve their answer
•	 Some parts of the answer required greater development and to be better explained in order to clarify and 

substantiate the points being made.
•	 The conclusion was promising but would have gained higher marks had the references to the difficulty of 

establishing the extent of media influence been explained more fully. For example, what might be the practical and 
methodological difficulties of studying media influence in this context.

•	 The answer was rather short on references to specific postmodernist contributions to the study of the media.
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Example Candidate Response – low Examiner comments

       A short reference to the 
postmodernist concept of 
hyperreality is provided but 
demonstrates only limited 
understanding at this point.

11



Example Candidate Responses – Paper 4

48

Example Candidate Response – low, continued Examiner comments

       Here, the candidate seems to 
be conflating postmodernist and 
Marxist ideas, with the notion that 
the media is used to distract people 
from what is really happening, being 
more associated with the Marxist 
analysis than the postmodernist.

       Again, this is more a conflict 
perspective of the kind exemplified 
by Marxist theory. Connecting 
these ideas so closely with 
postmodernism shows some 
misunderstanding, and therefore 
weak AO1 and AO2 skills.

       The candidate provides a 
useful link to the idea of media as 
narrative but does not develop or 
challenge.

4

2

3
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Example Candidate Response – low, continued Examiner comments

       The candidate’s argument 
is unclear. This is an example of 
where the candidate might offer 
a good point but needs to find a 
clearer and more accurate set of 
words to drive home their meaning 
in relation to the question.

       The relevance and meaning 
in this paragraph are particularly 
difficult to understand.

       This is an assertion. To be 
convincing, the point needs to 
be supported with evidence and/
or examples, and the candidate 
also needs to explain how and 
why videos about skincare may be 
highly influential.

7

5
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Example Candidate Response – low, continued Examiner comments

       There is lack of clarity again, 
although there is a hint of a relevant 
point in the reference to multiple 
sources of control.

       The conclusion follows the 
pattern of the answer as a whole 
in being difficult to decipher, with 
terms appearing with no obvious 
context (for example, the reference 
to pressure groups in the final 
sentence).

Mark for AO1 = 2 out of 9
Mark for AO2 = 3 out of 11
Mark for AO3 = 3 out of 15

Total mark awarded =
8 out of 35

8

9

8

9

How the candidate could improve their answer
•	 There is a suggestion that the candidate had some good knowledge and understanding, but their ability to express 

ideas was limited on this evidence. Greater clarity and accuracy in forming sentences was needed to gain higher 
marks.

•	 The candidate knew some relevant postmodernist terms but did not to apply them well to the question. To improve 
the answer, there needed to be greater attention given to explaining why postmodernists think that the media is a 
pervasive influence in people’s lives today.

Common mistakes and guidance for candidates
•	 Questions about postmodernist theory are often answered with little or no detailed understanding of the 

perspective. Indirect references to the theory rather than direct discussion is a common mistake among candidates.
•	 Candidates would benefit from understanding more about how postmodernist theory relates to earlier traditions in 

sociology, such as the interpretivist and critical theory (Frankfurt School) contributions.
•	 Higher marks could be gained by guiding candidates on how to write more developed conclusions to their answers.
•	 Candidates would benefit from greater awareness of limitations in specific postmodernist ideas, such as those 

linked to the concepts of hyperreality, simulacra and identity.
•	 Higher marks could be gained when discussing media influence by considering whether some groups are more 

likely to be influenced than other groups (the poor rather than the rich, for example, or vice versa).
•	 Some candidates wrongly identify an ideological role for the media in postmodernist thinking. In doing so, 

they overlook the absence of a theory of power in postmodernism. Postmodernists provide what they see as a 
descriptive account of the media as opposed to an analysis of the media’s power structure and role in society. 
Distinguishing between postmodernism and Marxist theory is important in that respect.
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Question 4

Example Candidate Response – high Examiner comments

       The reference to the concept 
of citizen journalism as a point 
supporting the view expressed in 
the question is well explained, so 
good AO1 and AO2 skills shown 
here.

       The candidate makes good 
use of an example to illustrate 
how citizen journalism can provide 
a challenge to the control of 
governments over the media. 
Choice and use of the example 
demonstrates high order AO2 skills.

1

2

1

2
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Example Candidate Response – high, continued Examiner comments

       The candidate makes effective 
use of the idea of fragmentation 
within the media industry to suggest 
limitations to government control of 
the media.

       The candidate demonstrates 
good reasoning skills in identifying 
where power may lie in relation to 
politicians and the media.

4 4

3 3
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Example Candidate Response – high, continued Examiner comments

       It is not clear how this point 
helps to answer the question, but 
the reference to ‘the new economic 
shift’ is potentially relevant.

       A thin line of argument here 
perhaps, but again the candidate 
tries to reason points through to 
provide a sound analytical response 
to the question.

66

55
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Example Candidate Response – high, continued Examiner comments

       A reasonable point for the view 
in the question, but it could have 
been expressed in a sharper way.

       The candidate makes a good 
evaluative point supported by a 
reference to the work of Curran 
and using a relevant concept 
– propaganda – to extend the 
discussion and gain marks for AO3.

       A good example of a means 
through which government can 
exert control over those working in 
the media.

       A helpful reference to 
authoritarian regimes and 
the powers available to such 
governments in controlling the 
media. The candidate misses the 
opportunity to discuss differences 
between authoritarian regimes and 
democratic governments in relation 
to control of the media.

8

9

8

9
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Example Candidate Response – high, continued Examiner comments

       The candidate demonstrates 
good AO2 skill in linking the 
discussion to a relevant sociological 
perspective (Marxist theory) and 
developing the point through 
reference to Marcuse and the idea 
of false consciousness.

1111
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Example Candidate Response – high, continued Examiner comments

       An astute point about the 
possible links between media 
and government as a source of 
advertising revenue. This again is 
evidence that the candidate thinks 
deeply about the issues raised by 
the question and reasoning points 
through quite well for AO3 marks.

       The candidate provides a 
limited conclusion that doesn’t add 
much to the preceding discussion 
or offer any additional reflections on 
the issues raised by the question.

Mark for AO1 = 8 out of 9
Mark for AO2 = 9 out of 11
Mark for AO3 = 12 out of 15

Total mark awarded =
29 out of 35

How the candidate could improve their answer
•	 The candidate demonstrated that they were capable of some considered and well-reasoned analysis in their 

response to the question. In that context, the conclusion to the answer was disappointing. A more sharply honed 
and thoughtful conclusion would have improved the response.

•	 There was scope to make more links to relevant sociological theories, such as the pluralist view of the media and 
the debates between digital optimists and digital pessimists.

•	 There were a few places where the candidate could have been more questioning about the points they were 
making. For example, stating that authoritarian regimes are able to have complete control over the media is 
contentious. Citizens accessing foreign media illicitly occurs even under the North Korean regime and the internet 
is exceptionally difficult to police even with the powers of an authoritarian state. A little more nuance in expressing 
some of the key points would have added to what overall was a very good answer.

1212
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Example Candidate Response – middle Examiner comments

       The answer begins well with 
an accurate reference to pluralist 
theory as a supporting point for 
the view expressed in the question 
(AO1 skills shown).

       The reference to ‘democratic 
regimes argue that media content 
is based on what the majority 
want’, is somewhat confusing. 
A democratic regime is not a 
sociological perspective and it is left 
unclear in the statement who within 
a democratic regime is arguing that 
media content reflects the wishes of 
the majority. The paragraph needed 
to be more closely linked to the 
question and better expressed.

       A helpful reference to the role 
of editors and journalists in creating 
media content. However, the point 
that editors and journalists may 
have power in the context of the 
media could have been developed 
and supported with evidence. 
For example, how do editors and 
journalists exercise control over the 
media and what are the sources of 
their power?

1

3

1

3
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Example Candidate Response – middle, continued Examiner comments

       A good line of analysis is 
introduced at this point, linking with 
the digital optimist view that the 
new media has helped open more 
channels for individuals to challenge 
the existing power structures in 
society, including the power of 
government. More development of 
the point and supporting examples 
would have helped gain further 
marks.

       While the feminist perspective 
is a relevant reference in the context 
of the question, the particular point 
here is weak and poorly expressed. 
The idea that the government has a 
‘male gaze agenda’ is unconvincing. 
If there is a male gaze agenda 
operating in the media, it is set by 
male audiences and/or the actions 
of those who work within the media 
seeking to boost circulation figures 
and/or generate more advertising 
revenue; it is not at all clear from 
the candidate’s answer what it 
might mean for the government to 
have a male gaze agenda.

       In this paragraph and the 
preceding one, the candidate 
begins to make the case that 
governments may have powers to 
control the media. However, details 
about what those powers are and 
how they might be implemented are 
largely absent from the analysis.

5
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Example Candidate Response – middle, continued Examiner comments

       Potentially a good point, but 
again lacking detail. Why is the 
position of editors and journalists 
so dependent on government 
favour and what evidence is there 
that the government has this 
level of control? Is the candidate 
still referring to the situation in 
authoritarian regimes or all types 
of government? The paragraph 
is unclear on those important 
questions.

       A helpful reference to 
censorship and regulation in this 
paragraph, but the candidate 
links these processes to the new 
media specifically. Censorship 
and regulation are features with all 
forms of media, including traditional 
media, so it is unclear why the 
candidate is discussing the new 
media specifically in this context.

       The point being made about 
government funding seems 
to be assertion rather than an 
acknowledged fact or a point arising 
from an established sociological 
analysis. The point needed to be 
developed through reference to 
appropriate sociological material to 
be convincing.

       The candidate offers a 
conclusion, but it is short of 
substance. It would be better if the 
candidate could express which 
lines of argument they find most 
convincing in relation to the exam 
question and why.

Mark for AO1 = 6 out of 9
Mark for AO2 = 7 out of 11
Mark for AO3 = 8 out of 15

Total mark awarded =
21 out of 35
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How the candidate could improve their answer
•	 While the candidate covered a range of relevant points for and against the view in the question, there needed to be 

more substance to the points to merit higher marks.
•	 Using evidence from relevant studies to support key points would have been one way the candidate could have 

added substance. More links to relevant sociological theories would also have helped.
•	 Some points would have benefited from more thinking through, as they ultimately seemed weak and unconvincing 

points in relation to the question.
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Example Candidate Response – low Examiner comments

       The candidate makes an 
appropriate link to pluralist and 
Marxist theory, but the development 
that follows is hard to understand as 
the wording is unclear in parts.

       There is some sense of this 
material being relevant to the 
question, but again the wording 
lacks clarity.

1

2

1

2



Example Candidate Responses – Paper 4

62

Example Candidate Response – low, continued Examiner comments

       The candidate makes a useful 
reference to the role of audiences 
in controlling the media (AO1). The 
point could be better developed 
by considering specific ways that 
audiences can influence media 
content beyond simply commenting 
on social media.

       There is a confusing reference 
here to managers being the 
pluralists and the point of the 
paragraph is unclear.

3

4

3
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Example Candidate Response – low, continued Examiner comments

       The candidate’s answer jumps 
around here. In this paragraph, 
there is a quick switch to discussing 
owners, but little substance to the 
point being made.

       The candidate offers the 
assertion that owners can show 
audiences what they (the owners) 
want the audience to see, but no 
evidence or relevant sociological 
reasoning is given to support this 
point.

66
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Example Candidate Response – low, continued Examiner comments

       There is a lack of clarity in the 
point being made and no linkage 
to relevant sociological material 
(theories, concepts, explanations, 
evidence).

       A relevant example of 
government intervention to 
influence the media, but the 
underlying point about the link 
between government and media 
managers is left underdeveloped, 
so demonstrating only limited AO3 
skills.

7

8

7
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Example Candidate Response – low, continued Examiner comments

       An unclear point, but it does 
contain a link to the idea of bribery 
as a means of influencing decisions 
within the media.

       Again, this is largely an 
assertion rather than being a 
paragraph of reasoned argument 
based on relevant sociological 
material.

99
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Example Candidate Response – low, continued Examiner comments

       A basic conclusion, with the 
reasoning increasingly difficult to 
follow.

Mark for AO1 = 4 out of 9
Mark for AO2 = 5 out of 11
Mark for AO3 = 6 out of 15

Total mark awarded =
15 out of 35

1111
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How the candidate could improve their answer
•	 Many points lacked clarity in a linguistic sense.
•	 While some relevant points for and against the view in the question were stated, there was very little development 

in the form of explanation and/or supporting sociological material.
•	 Relevant theories were mentioned, but the candidate demonstrated little understanding of how those theories could 

have been used in answering the question.
•	 The answer could have been improved in terms of its logical sense. Some points needed to be more clearly 

expressed and more closely applied to the question that reflects more than just a limitation in the use of language.

Common mistakes and guidance for candidates
•	 Conflating the ruling class with government occurs quite often in answers about control of the media. While the 

ruling class in the form of rich media owners may control the media, this grouping should not be confused with the 
government, which is a separate institutional structure with its own imperatives and modes of operation.

•	 Some candidates wrongly assume that the new media is controlled by individual content creators rather than by 
powerful ownership groups and platform providers. They don't recognise that there is an ongoing sociological 
debate about where the balance of powers lies between different agencies and social actors in relation to the new 
media.

•	 Some candidates wrongly assume that democratic governments have little power to control the media by contrast 
with authoritarian regimes. Thinking more critically about the role of democratic governments in the media space 
would help these candidates write more informed answers for this part of the syllabus.

•	 Answers addressing the issue of government control of the media often omit to consider specific mechanisms 
through which government may exercise control. Some candidates assume that the government possesses 
relevant powers to control the media, rather than demonstrating in the answer where that power resides and to 
explain the means through which it is exercised. Good answers, by contrast, demonstrate a detailed understanding 
of mechanisms such as censorship, public ownership, regulation, control of digital infrastructure, licensing and 
funding, as ways that government can exercise control in relation to the media.

•	 A common mistake is for candidates to confuse assertion with appropriate sociological reasoning. This often 
occurs where a point is asserted as fact rather than developed through reference to relevant sociological concepts, 
theories, evidence and explanations. Candidates should be encouraged to challenge the points they make and 
consider the range of alternative interpretations and viewpoints available.
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Question 5

Example Candidate Response – high Examiner comments

       The candidate rightly locates 
the question in the context 
of Marxist theory, thereby 
demonstrating good AO2 skills.

       The candidate provides a 
helpful summary of the Marxist 
theory of religion with a good 
account of how religion may 
contribute to false consciousness, 
meriting marks for AO1.
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Example Candidate Response – high, continued Examiner comments

       The candidate gives a good 
link to the question explaining how 
religion may serve the interests of 
the ruling class (good AO2 skills).

3 3
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Example Candidate Response – high, continued Examiner comments

       The candidate provides a well-
chosen example to help develop 
an understanding of how religion 
may be involved in supporting ruling 
class interests.

       The candidate gives another 
good historical example to support 
the view expressed in the question.

       The candidate provides a 
good link between religion and the 
encouragement of sobriety among 
the working class; the point might 
have been more developed in order 
to provide a clear explanation of 
how sobriety might serve ruling 
class interests.

4 4
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Example Candidate Response – high, continued Examiner comments

       The candidate makes a well-
informed reference to Gramsci and 
the idea that religion can be used 
to challenge authority as well as 
to defend ruling class interests, 
thereby attracting AO2 and AO3 
marks.

       There is good use of feminist 
theory to develop the point that 
religion may be linked to the 
maintenance of power structures in 
society. 

7 7

8 8
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Example Candidate Response – high, continued Examiner comments

       A good evaluative point in 
response to the account of feminist 
theory (AO3).

       A clear and accurate 
juxtaposition of functionalist theory 
with the Marxist theory of religion, 
demonstrating good AO3 skills.

9 9
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Example Candidate Response – high, continued Examiner comments

       A reasonable conclusion that 
rightly points to the multi-faceted 
nature of religion and variance it 
is used by different groups and in 
differing circumstances.

Mark for AO1 = 7 out of 9
Mark for AO2 = 9 out of 11
Mark for AO3 = 10 out of 15

Total mark awarded =
26 out of 35

1111

How the candidate could improve their answer
•	 The answer could have been improved by greater focus on the reference to religious organisations in the question. 

More examples of how the organisational aspects of religion may serve ruling class interests would have been 
helpful.

•	 While references to the feminist theory of religion may help to support the view expressed in the question, more 
attention might have been paid to explaining the differences with Marxist theory, and specifically how and why men 
might be viewed as a ruling class.
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Example Candidate Response – middle Examiner comments

       The candidate provides an 
accurate and literate explanation 
of the Marxist idea that religion 
is the ‘opium of the people’, 
demonstrating good AO1 and AO2 
skills.

       The candidate makes a direct 
link helping to explain the view that 
religion serves the interests of the 
ruling class.

1 1

2 2
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Example Candidate Response – middle, continued Examiner comments

       There is good use of the 
concept of social solidarity to 
introduce an alternative perspective 
to the Marxist theory of religion.

       The candidate describes the 
connection between religion and 
the creation of social solidarity, as 
identified in the work of functionalist 
theorists well, so good AO2 and 
AO3 skills shown.

       The candidate makes good use 
of the concept of value consensus, 
again demonstrating relevant 
knowledge and application in 
relation to the question.

3
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Example Candidate Response – middle, continued Examiner comments

       The candidate misses the 
opportunity here to make a 
comparison with the Marxist view 
that religion helps the working class 
accept what they cannot control. 
There are some similarities as 
well as some differences between 
Parsons’ functionalist ideas about 
religion as a coping mechanism 
and the Marxist account of the 
ideological role of religion, which the 
candidate could have mentioned.

       The conclusion adds little to the 
analysis and the points made offer 
no further analysis or development.

Mark for AO1 = 7 out of 9
Mark for AO2 = 7 out of 11
Mark for AO3 = 9 out of 15

Total mark awarded =
23 out of 35

6 6

7 7

How the candidate could improve their answer
•	 The material used to support the view in the question is limited to an accurate account of the main features of the 

Marxist theory of religion. Higher marks could have been gained by using a wider range of material to support the 
view, including examples of how religious organisations might support the interests of the ruling class in practice.

•	 The evaluation was limited to an account of the functionalist theory of religion. There was no direct analysis of 
possible limitations in the Marxist view that religion serves the interests of the ruling class.

•	 The conclusion said little more than that the answer to the question depended on which sociological perspective 
one favours. A sharper, more analytical conclusion would have improved the answer.
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Example Candidate Response – low Examiner comments

       The candidate rightly links the 
view expressed in the question to 
the Marxist theory of religion (AO1).

       The candidate provides a basic 
summary of the importance of the 
concept of ruling class interests in 
Marx’s work (AO1).

1

2

1

2



Example Candidate Responses – Paper 4

78

Example Candidate Response – low, continued Examiner comments

       The candidate identifies coping 
with the stresses of life as one way 
in which religion may support the 
working class.

       The candidate makes a good 
point about the significance of the 
afterlife in encouraging the working 
class to accept suffering in their 
life on earth, showing relevant 
knowledge and sound application to 
the question. 

       The candidate draws a solid 
link between the solace provided by 
religion and the working class being 
persuaded to avoid rebellion and 
conflict in this life (AO1 and AO2).
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Example Candidate Response – low, continued Examiner comments

       The candidate makes reference 
to Marxist theory being too 
deterministic and demonstrates 
good AO2 and AO3 skills.

       The candidate expresses this 
brief point well. The point might 
have been further developed to 
provide a substantive rejoinder to 
the Marxist theory of religion.

       A relevant reference to 
functionalist theory, but too 
underdeveloped to gain many 
marks.

Mark for AO1 = 5 out of 9
Mark for AO2 = 5 out of 11
Mark for AO3 = 6 out of 15

Total mark awarded =
16 out of 35
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How the candidate could improve their answer
•	 The account of Marxist theory was quite well done, but the rest of the answer lacked detail and ultimately provided 

only a very limited evaluation of the view expressed in the question.
•	 The answer could have been improved by including examples of specific ways in which religious organisations may 

serve the interests of the ruling class. For example, parallels between the hierarchy in religious organisations and 
the power and status of the ruling class might have been examined. Links between the ruling class and the funding 
of religious organisations could also have been discussed.

•	 Functionalist theory provided a powerful contrast to the Marxist theory of religion, but the answer lacked a 
substantive account of the functionalist contribution.

Common mistakes and guidance for candidates
•	 The term ‘ruling class’ refers to a group who enjoy a privileged position in society on the basis of their economic 

power primarily. Some candidates wrongly conflate other privileged groups, such as men and the feudal 
aristocracy, with the ruling class.

•	 Candidates often discuss religion in general even where the question refers to the role of religious organisations 
specifically. More attention to the organisational aspects of religion would help avoid this mistake when answering 
questions that refer directly to the impact of religious organisations.

•	 Answers on the role of religion are often confined to a contrast between Marxist and functionalist perspectives. 
Better answers would range more widely, drawing on additional theories and using examples and evidence to 
support the discussion.

•	 Differences in the Marxist perspective are often overlooked in answers on the role of religion. For example, 
classical Marxists have a very different view of the role of religion to later Marxists such as Gramsci, Althusser, and 
the Frankfurt School.
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Question 6

Example Candidate Response – high Examiner comments

       A helpful reference to thinkers 
on either side of the debate, 
demonstrating sound knowledge of 
the topic (AO1).

11
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Example Candidate Response – high, continued Examiner comments

       A well-honed point supporting 
the view in the question. The 
candidate states Bruce’s argument 
accurately and clearly, with strong 
links to the question, demonstrating 
goods skills in AO1 and AO2.

       A useful example to help 
illustrate Bruce’s argument.

       The candidate explains and 
illustrates a further element of 
Bruce’s thesis well.

3 3
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Example Candidate Response – high, continued Examiner comments

       The candidate makes good 
use of an argument against Bruce, 
helping to demonstrate AO3 skills.

       The candidate extends the 
discussion of Bruce’s ideas, 
showing insight into the significance 
of religious pluralism. Ultimately, the 
point about increased fragmentation 
in religious organisations is not 
explained convincingly as a 
rejoinder to Heelas’ point about 
people still turning to religion for 
solace and emotional support.

       The candidate provides a 
helpful reference to Weber’s 
concept of rationalisation.

6

6
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Example Candidate Response – high, continued Examiner comments

       The candidate gives a clear 
and well-expressed account of the 
significance of rationalisation as a 
factor that may have undermined 
the social significance of religion.

88
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Example Candidate Response – high, continued Examiner comments

       A brief rejoinder to Weber’s 
argument using the example of 
NRMs (new religious movements). 
This evaluative point might have 
been further developed by the 
candidate to gain more AO3 marks.

       Excellent use of another 
relevant concept ‘disengagement’.

99
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Example Candidate Response – high, continued Examiner comments

       The candidate explains the 
idea of disengagement very well in 
this paragraph, demonstrating good 
AO2 skills in particular.

       The candidate makes a short, 
but well-made point against Martin’s 
argument about disengagement.

1212
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Example Candidate Response – high, continued Examiner comments

       The candidate carries out 
a good evaluation (AO3) again, 
pressing the point that religion still 
remains socially significant in many 
countries.
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Example Candidate Response – high, continued Examiner comments

       A well-made point about a 
possible move towards more 
privatised forms of religious practice 
in some societies.

       The candidate develops the 
evaluation in a mature way by also 
considering counter arguments to 
Davie’s critique of the secularisation 
thesis, thereby helping to merit high 
marks for AO3.

       The candidate makes good use 
of Rodney and Bainbridge to further 
the evaluation of the view in the 
question.
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Example Candidate Response – high, continued Examiner comments

       The candidate concludes 
a detailed and well-informed 
evaluation with a further line of 
argument based around Berger’s 
concept of de-secularisation.

1717
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Example Candidate Response – high, continued Examiner comments

       A good rejoinder to Berger, 
maintaining the dialectical nature 
of the debate the candidate has 
pursued, impressing with the 
sophisticated nature of the analysis 
(AO3).

       An underwhelming conclusion 
relative to the high quality of 
analysis provided in the main body 
of the answer.

Mark for AO1 = 8 out of 9
Mark for AO2 = 9 out of 11
Mark for AO3 = 11 out of 15

Total mark awarded =
28 out of 35

1818

1919

How the candidate could improve their answer
•	 The conclusion needed a sharper edge to gain higher marks. One way this could have been accomplished would 

have been through enquiring why sociologists find it hard to agree about the social significance of religion today. Is 
it, for example, that they hold different definitions of religion to some extent; or is it due to methodological difficulties 
in studying the significance of religion; or might it be that the thinkers are at cross-purposes to some degree, failing 
to fully understand and respond directly to the points each other thinker is making?

•	 The candidate could have reflected on the growth of religious fundamentalism in recent years and whether this 
marks a revival in the social significance of religion.

•	 Overall, the candidate succeeded in explaining the links to the question very well when making evaluative points. 
There were just a few examples though where the explanation needed to go a little further in order to fully clarify 
and justify the point being made.



Example Candidate Responses – Paper 4

91

Example Candidate Response – middle Examiner comments

       The candidate refers to the 
possibility of a decline in religiosity 
without acknowledging that this may 
be something slightly different to 
the idea of a decline in the social 
significance of religion. Religion 
may lose its social significance 
without there necessarily being a 
corresponding decline in religiosity, 
and vice versa. This could occur, 
for example, where religious belief 
becomes more individualised and/or 
privatised. 

       The candidate uses evidence 
to support the idea of a decline in 
religious belief, showing sound AO1 
and AO2 skills.

       The candidate makes a 
reasonable point about the 
significance of science as a factor 
that may be eroding the influence of 
religion.

1 1

2 2

3 3
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Example Candidate Response – middle, continued Examiner comments

       The candidate identifies the 
increase in humanist ideas as 
a challenge to religious belief, 
demonstrating good knowledge 
(AO1) and helping to extend the 
discussion (AO2).

       The candidate makes a 
brief reference to the growth 
of individualism, without fully 
explaining the significance of this 
for the idea of a decline in religious 
influence and belief.

       Here, the candidate focuses 
more directly on the social 
significance of religion, drawing 
the answer more tightly into the 
question (AO2).

5 5

4 4

6 6
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Example Candidate Response – middle, continued Examiner comments

       A useful line of analysis as the 
candidate switches to considering 
the arguments against the view 
expressed in the question.

       A useful reference to the 
concept of privatised religious 
practice and belief (AO3).

       The candidate points to the rise 
of NRMs, such as cults. However, 
the issue of whether changes such 
as the growth of NRMs and the 
increasing importance of privatised 
religious practice, adds to or 
undermines the social significance 
of religion goes unaddressed. 
Some sociologists would argue, 
for example, that NRMs are a 
symptom of a decline in the social 
significance of religion rather than 
being an example of a revival in the 
role of religion in society.

       A brief point about the 
importance of religion as a form 
of emotional and practical support 
for the underprivileged but needed 
further development to gain higher 
marks.

       A rather weak conclusion, 
not really adding much insight in 
relation to the set question.

Mark for AO1 = 6 out of 9
Mark for AO2 = 7 out of 11
Mark for AO3 = 9 out of 15

Total mark awarded =
22 out of 35
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How the candidate could improve their answer
•	 Higher marks could have been gained by referring to more sociological concepts, such as religious disengagement, 

religious pluralism, religious fundamentalism, rationalisation and disenchantment.
•	 There was scope to question whether purported changes in religiosity necessarily imply a change in the social 

significance of religion. The two things can be unrelated to some extent.
•	 The answer was rather short of references to the ideas of relevant sociologists and theoretical perspectives, 

including those sociologists such as Wilson, Martin, Davie and Bruce who have contributed to the debate about the 
secularisation thesis.
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Example Candidate Response – low Examiner comments

       A useful introductory paragraph 
that helps place in context what is 
meant by the idea of religion having 
social significance.

1 1
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Example Candidate Response – low, continued Examiner comments

       This paragraph lacks clarity 
overall and links to the question 
required further explanation.

       While Marxist theory can be 
made relevant to the question, 
the candidate struggles in this 
paragraph to make the necessary 
links. The answer is becoming 
rather too focused on describing 
different theories of religion as 
opposed to assessing whether 
religion has lost its social 
significance.

       The point that religion may 
still have relevance in terms of 
the maintenance of capitalism is 
relevant to the question, but to gain 
higher marks the candidate needs 
to consider evidence that might 
support this view of the role of 
religion today.

4

2

3

2

4
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Example Candidate Response – low, continued Examiner comments

       The discussion continues to 
be at the level of theory rather 
than considering examples and 
evidence.

       More abstract theory here 
with the reference to Weber and 
Calvinism. The candidate doesn't 
consider whether religious beliefs 
still provide motivation to capitalist 
entrepreneurs today.

       The discussion moves to 
a less theoretical stance with a 
consideration of the significance of 
science as a possible counter to the 
influence of religion in society. The 
discussion about science needs 
to be more developed and better 
linked to the question in order to 
gain higher marks for AO1 and AO2.

       Some of the points included 
in this conclusion would have 
been better explained in separate 
paragraphs, prior to the concluding 
paragraph. The idea that people 
know enough about religion to 
debate it, even while not necessarily 
being religious, is quite a sharp 
point. Cultures and institutions 
in the so-called secularised 
countries still bear the influence 
of established religion in many 
subtle respects, including people 
being able to debate religion in a 
reasonably informed way.

7

5

6

5

7

6
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Example Candidate Response – low, continued Examiner comments

       The candidate gives a useful 
reference to the significance of 
individualism in relation to the 
question, but it is not explained 
and developed in a way that might 
provide a convincing evaluation of 
the view expressed in the question.

Mark for AO1 = 4 out of 9
Mark for AO2 = 4 out of 11
Mark for AO3 = 4 out of 15

Total mark awarded =
12 out of 35

9 9

How the candidate could improve their answer
•	 The question is essentially a factual one; it is asking whether religion still retains its social significance today. 

Unfortunately, the candidate used much of their time in answering the question to describe abstract theories of 
religion, without linking the material well to the empirical matter of whether religion still has social significance.

•	 The answer could have been improved by drawing on more material from the secularisation thesis.
•	 The candidate demonstrated only limited knowledge of relevant changes in religion, such as the growth of religious 

fundamentalism, NRMs, privatised forms of religious practice and belief, and the emergence of alternative belief 
systems.

•	 The discussion was over-generalised and gave insufficient consideration to possible differences between societies 
in terms of the extent to which religious organisations may have lost social significance.

Common mistakes and guidance for candidates
•	 Candidates often confuse the idea of religion losing its social significance with the broader topic of decline in 

religious belief and practice (religiosity). The two things are not necessarily the same, although the relationship 
between the two is complex.

•	 The idea of religious revival is sometimes used to argue that religion has not lost its social significance today. 
Candidates should be aware that the significance of developments such as the growth in NRMs and in New Age 
ideas is contested in terms of the debate about religion losing its social significance. 

•	 Some answers to questions about secularisation rely too heavily on describing theories of the role of religion 
(Durkheim, Marx, Weber, for example). To gain higher marks, there needs to be a focus on discussing specific 
contributions to the secularisation debate, including those from sociologists such as Wilson, Martin, Berger, Bruce, 
Stark and Bainbridge, Heelas, Wallis, and Davie. 

•	 Good answers to questions about secularisation can be arranged around a discussion of a range of key concepts, 
including rationalisation, disenchantment, disengagement, religious pluralism, fundamentalism, desacralisation, 
religious revival, individualism, privatised religious practice, and NRMs. Knowledge of at least some of these 
concepts is a prerequisite for writing high-quality responses to questions in this area of the syllabus.
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